Feuille d’exercices n°2
1. Choisir parmi les quatre éléments (a, b , c, d) celui qui permet de constituer une phrase cohérente et grammaticalement correcte.
a) Foreign technology began to surpass …… by the 1860s. a) our b) ours c) ourselves d) our one.
b) Gardening was the only job he was …… good at.a) any b) some c) anything d) something.

c) She drank some tea though it was a drink she didn’t care …… . a) with b) for c) of d) by.

d) ……the reasons, the motorcar industry is in for hard times. a) although b) however c) whatever d) were it for.

e) He was feeling so tired that I suggested ….. .a) to call b) calling c) us calling d) to have to call.

f) They are seeking ……the problem . a) solving b) the solving of c) a solution of.d) a solution to
2. Traduire.
a) On croit que Mrs Williams a beaucoup vécu en Afrique.

b) Depuis que nous avons acheté une voiture, notre vie a bien changé.

c) On considère que ces enfants sont trop jeunes pour rester seuls à la maison.

d) Pierre vit seul : il a perdu ses parents.

e) Ils ne sont pas encore rentrés ? La tante Julie les aura invités à dîner.
3. Choisir parmi les quatre éléments (a, b , c, d) celui qui permet de constituer une phrase cohérente et grammaticalement correcte.
a) It …… nearly a century since he…… . a) has been/has died b) was/wasdead c) was/died d) is/died.

b) …… staying abroad, I wouldn’t think of it. a) as much as b) as for c) as d) as it is.
c) … … sound silly, but I am afraid. a) it may b )it can c) should it d) it has to.
d) I want you clearly… … . a) understanding b) to understand c) the understanding of d) should understand.

e) Nobody believed us when we said … …married in a month’s time. a) we got b) we’re getting c) we’ll get d) we were getting.
f )… …you start now, you’ll never make it. a) whereas b) however c) if d) unless.

4. Traduire.

a) Est-il vraiment nécessaire de fermer la porte d’entrée à clé ?

b) Il ne faut pas vous faire de souci, votre santé en dépend.

c) Il ne faut pas vous faire de souci, tout s’arrangera très bien.

d) Vous devriez éviter de laisser votre couteau à la portée de cet enfant.

e) Pendant des heures, il restait assis près de la fenêtre, à regarder passer les gens.

5. Choisir parmi les quatre éléments (a, b , c, d) celui qui permet de constituer une phrase cohérente et grammaticalement correcte.
a) It … … two years … … I last …… . a) was…since…see b) is …since…saw c) has been …as…saw d) will be…when…see.

b) If we tried harder,we could …… with our current resources. a) make do b) do make c) make d) make to do.
c) Over the last few years, opinions…… .a) are changing b) change c) have been changing d) changed.

d) No sooner ……the house……the storm broke. a) has he left…than b) had he left than c) did he leave…as d) was he leaving …that.

e) Not a week goes back without someone……in the street. a) being robbed b) robbing c) to be robbed d) is robbed.

f) Which of these two brands is ……one. a) stronger b) the strongest c) strongest d) the stronger.

6. Traduire.

a) C’est la troisième fois que je lui écris et elle n’a toujours pas répondu. Après tout, elle peut avoir changé d’adresse.

b) Vous voulez faire bâtir un garage sous votre salle à manger ? Quelle drôle d’idée.

c) Vous êtes assez grand pour prendre vos propres décisions ; je ne vais pas vous dire ce que vous devez faire.

d) Mon Dieu, Tom, Qu’est-ce-que tu as donc fait ? tu as les mains pleines de boue.

e) Fais attention ! Tu es au soleil depuis plus d’une demi- heure , c’est peut-être assez long pour aujourd’hui.

7. Choisir parmi les quatre éléments (a, b , c, d) celui qui permet de constituer une phrase cohérente et grammaticalement correcte.
a) He was dismissed……without permission. a) that he had left b) leaving c) as leaving d) for leaving.
b) ……electoral campaign promises are forgotten, …… . a) the quicker / the better b) quicker / the better c) the quickest/ the best d) quickest/ the best.

c) He lives in Wick, ……that is. a) wherever b) whichever c) wherefrom d) whereat.
d) It is reasonable to demand from the new president that he ……avoid making matters worse.a ) would b) should c) could d) is to.
e) He was wearing an old raincoat which gave him……no protection against the cold. a) next to b)  near to c) so much as d) just like.

f) ……he was angry, he listened to me patiently. a) still b) although c) however d )despite.

g) No one saw Tom go out, …… ? a) hasn’t he b) didn’t they c) has one d) did they.
h) they have two sons, ……of whom lives at home anymore. a) no one b) not anyone c) neither d) none.
i) In childhood, nearly all the world is older than…… . a) itself b) oneself c) himself d) one’s own.
